general Reserve
quiplus, L.e. Balance InStqg

75,000
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ternal debts
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4.26 Analysis of Financial Statements\caSE
)

Hlustration 41,

From the following information, compute Debt to Equity Ratio:

T

Shareholders’ Funds: Long-term Borrowings: :
Equity Share Capital 2,00,000 | 10% Debentures 350,
Reserves and Surplus 1,50,000 | Current Liabilities ]'00'02
Solution:
i ‘ Debt _X3,50,000 _
Debt to Equityitetos Equity (Shareholders’ Funds) ¥ 3,50,000
Debt = 10% Debentures = ¥ 3,50,000.
Equity = Equity Share Capital + Reserves and Surplus
=3 2,00,000 + X 1,50,000 = ¥ 3,50,000.
[llustration 42.
From the following information, compute Debt to Equity Ratio:
X 3
Long-term Borrowings 5,00,000 | Equity Share Capital 2,000
Long-term Provisions 1,00,000 | General Reserve 2,00,009
Surplus, i.e., Balance in Statement of
Profit and Loss (Dr.) 1,00,000
Solution:
Debt % 6,00,000
Debt to Equity Ratio = =—— = 208k
e/ Equity (Shareholders” Funds) < 3,00,000
Debt = Long-term Borrowings + Long-term Provisions
=% 5,00,000 + % 1,00,000 = T 6,00,000.
Equity = Equity Share Capital + General Reserve + Surplus,
l.e., Balance in Statement of Profit and Loss (Dr.)
=3 2,00,000 + X 2,00,000 - X 1,00,000* = I 3,00,000.
“Surplus, i.e., Balance in Statement of Profit and Loss (Dr.) means negative balance.
Illustration 43. :
From the following information, compute Debt to Equity Ratio:
3 R 3
Long-term Borrowings 2,00,000 | Non-current Assets e 3,60,000
Long-term Provisions 1,00,000 | Current Assets 90,000
Current Liabilities 50,000 (Delhi 2014)

Debt _¥3,00,000
Equity (Shareholders’ Funds) ¥ 1,00,000
Debt = Long-term Borrowings + Long-term Provisions
=3 2,00,000 + ¥ 1,00,000 = ¥ 3,00,000.
Equity (Shareholders” Funds) = Non-current Assets + Current Assets
~ (Long-term Borrowings + Long-term Provisions
+ Current Liabilities)
=3,60,000 + X 90,000 — (% 2,00,000 + ¥ 1,00,000 + ¥ 50,000)
= 4,50,000 - ¥ 3,50,000 = ¥ 1,00,000.

Solution: Debt to Equity Ratio = =§3RaT"

2
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Hlustration 47.
Calculate Total Assets to Debt Ratio from the following information:
Long-term Debts ¥ 16,00,000; Total Assets ¥ 24,00,000.

Total Assets _¥24,00,000

S i 3 . ¢ a3 ¢ TR et ———— - ey, - { -
deb Lo Total Assets to Debt BRH0 Long- ~term Debts ? 16, ()() 000 15:1,

[Ilustration 48.

Shareholders’ Funds ¥ 14,00,000; Total Debts (Liabilities) X 18,00,000; Current Liab
)

T 2,00,000. Calculate Total Assets to Debt Ratio.

Solution:

Total Assets _ ¥32,00,000 _
Long-term Debts ~ %16,00,000

Long-term Debts = Total Debts (Liabilities) — Current Liabilities
=¥ 18,00,000 — ¥ 2,00,000 = X 16,00,000.
Total Assets = Shareholders’ Funds + Total Debts (Liabilities)
=¥ 14,00,000 + ¥ 18,00,000 = X 32,00,000.

Total Assets to Debt Ratio =

Illustration 49.
From the following information, calculate Total Assets to Debt Ratio:

i< 3
Capital Employed 22,20,000 | Equity Share Capital 10,5000
Current Liabilities 1,80,000 | 8% Debentures 30000
Fixed Assets (Gross) 15,00,000 | Capital Reserve 24000
Accumulated Depreciation 2,00,000 | Surplus,i.e., Balance in Statement
Non-current Investment 700000 | ofProfitandLoss(Dr) 300(\
Trade Receivables 2,50,000 | Cashand Cash Equivalenfs el 1,50
Solution: .E
:
Total Assets to Debt Ratio = TotalObEek: = Y2400 (WN 1) = 2 5 1
Debt %9,60,000 (WN2)

Working Notes:

1 Total Assets = Non-current Assets* + Current Assets** :

= ¥ 20,00,000 + X 4,00,000 = ¥ 24,00,000,

*Non-current Assets = Fixed Assets (Gross) - Accumulated Depreciation + Non-
= ¥ 15,00,000 - ¥ 2,00,000 + ¥ 7,00,000 = X 20,00,000.

**Current Assets = Trade Receivables + Cash and Cash Equivalents
=¥ 2,50,000 + % 1,50,000 = ¥ 4,00,000.

{
current [nvestme”
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,counfing Ratios
- 4.33

capital Employed = Shareholders’ Funds* + | :
> ¥ 22,20,000 = X 12,60,000 + Long-te ong-term Debts*
oD
Long-term Debts = ¥ 22,20,000 - ¥ 12,60,000 ezt; - 00,000. Calculate
* holders’ Funds = Equi FAcaar ,60,000.
ok Equity Share Capital + Capital Reserve + Surplus, i.€. Balanc
of Profit and Loss

=X
10,50,000 + ¥ 2,40,000 - ¥ 30,000 = ¥ 12,60,000.

«pebt O Long-term Debts = Long-term Borrowings + Long-term Provisions

gstration 50.

computé Total Assets to Debt Ratio from the following information:

are Capital X 12r00/000;.R'eserves and Surplus ¥ 8,00,000; Long-term Borrowings
100; Long-term Provisions ¥ 5,00,000; Current Liabilities T 10,00,000

fil

~

Sh
i 25/00’

Total Assets % 60,00,000 _ , . 4

golution: Total Assets to Debt Ratio = ————=
Debt ¥ 30,00,000

Share Capital + Reserves and Surplus + Long-term Borrowings

+ Long-term Provisions + Current Liabilities
_ 7 12,00,000 + X 8,00,000 + X 25,00,000 + 5,00,000 + X 10,00,000 = % 60,00,000.

Total Assets =

Debt = Long-term Borrowings + Long-term Provisions

= % 25,00,000 + % 5,00,000 = T 30,00,000.

[llustration 51.

owing information, calculate Total Assets to Debt Ratio:

e

From the foll
% T
Capital Employed 25,00,000 Equity Share Capital 14,30,000
Investment 210,000 | 8% Debentures 400,000
Land : ' ; ‘ 8,50,000 Capital Reserve 2,75,000
Trade Receivables 2,75,000 Surplus, i.e., Balance
Cash and Cash Equivalents | 1,50,000 in Statement of Profit and Loss 1,50,000
i : (OD 2015 C)
Solution: Total Assets to Debt Ratio = Total Assets _ —/? 14,85, 000 =2.30:1.
Debt Z 6,45,000
orking Notes:
1. Total Assets = Investment + Land + Trade Receivables + Cash and Cash Equivalents
e _ %2,10,000 +X 850,000 + % 275,000 + T 1,50000=3 14,85,000.
= 2 Debt = Capital Employed = Equity”
- ¥ 25,00,000 - 7 18,55,000 = Z 6,45,000.
*Equity = Equity Share Capital + Capital Reserve + Surplus, i.e., Balance in Statement of Profit and Loss
0+% 1,50,000 = 7 18,55,000.

"" _ 714,30,000 + % 275,00

|
B
|
B

Scanned by CamScanner



Analysis Of FitidaiiLiai -""“e"‘ents\c ‘
S

Mlustration 57, xq
ing i tion:
Calculate Total Assets to Debt Ratio from the following informa

' ves and Surp]
Total Debt % 48,00,000; Shareholders’ Funds ¥ 8,00,000; Reser Plus 3 2,0()1%
Current Assets ¥ 20,00,000; Working Capital ¥ 4,00,000. :
Solution:

f
i
!
5
P

Total Assets 0 T 56,00,000 3
Total Assets to Debt Ratio = Dbt % 32,00,000
Notes:

1.

1.75:1

Current Liabilities = Current Assets Working Capital ‘
=3 20,00,000 - X 4,00,000 = ¥ 16,00,000 s R
Debt = Total Debt - Current Liabilities = T 48,qo;.g(§9«lj-, 5§ 16,09;,"090.= 4 32,0000,
Total Assets = Shareholders' Funds + Total Debt i
=X 8,00,000 + I 48,00,000 = ¥ 56,00,000.
3. Reserves and Surplus are included in Shareholders’ Funds. ot

YT

lustration 53,

Shareholders’ Funds ¥ 8,00,000; Total Borrowing
< 2,00,000; Other Current Liabilities ¥ 6,00,000. C\a}l
Solution:

Total Assets to Debt Ratio = fotal ASSVEtS\
Debt

1. Long-term Borrowings or Debt =

Notes: Total Borrowi‘n‘gf. - Short-term Borrowings

=% 18,00,000 — =7 16,00,000.
2. Total Assets = Shareholders’ Funds + Lor 0 ¢

+ Other Current Liabilitigs s
= ¥ 8,00,000 + X 16,00,000 -
i Illustration 54. ‘

Fixed Assets (Gross) 3 10,00,000; Accum

Notes:
1l

Debt

Debt = Long-term Borrowings + Long-term Provisions
= 33,25,000 + % 2,75,000 = ¥ 6,00,000. 0
2. Total Assets = Non-Current Assets + Current Assets

= [Fixed Assets (Net) + Non

-Current Investments + Long-
+ Current Assets ‘

= (310,00,000-% 5,00,000) + ¥ 50,000 + ¥ 2,00,000 + 2,50,000 =

’
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Illustration 59.

I = l Assets —
= ”p@:OaCLO &5

'D’CT“E ity

Total Assets
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d. has a term-l
h Lt oan of ¥ 10,00,000. Interest on the loan for the year I3

pré d its Profit
i125/000 atrllo it before Interest and Tax is % 5,00,000. Calculate Interest
Cove erag® X

fon: Interest Coverage Ratio = ?Loﬁt before Interest and Tax 4 % 5,00,000
Interest on Long-term Debt < 1,25,000

golt =4 Times.

ustration 62

the following details obt :
0% + Coverage Ratio: alnedifrom the financial statements of Jeev Ltd., calculate

Interes
fit after Tax
g Deb : T 1,20,000
, Long-term Debt = ‘
N SR o Z 20,00,000
Tax Rate e S AR Bl - 15T o
golution: (Delhi 2016)

f ’ré‘vihterest and Tax
‘ ng-term Debt

Scanned by CamScanner



